ZX#ﬁVNDﬁljmw EEKﬂBX%
98168 (H1A) HIZERRACTABR—L HT71—+F
AEARTa—)b
A—REFIUTI/A—R2EFIUTIL
B 1—7(1%%9“/7‘)1//1—7(2%?9*/7‘» 9:30 ~ 10:30
" ZFIRFIODIIVL/ DZFIBFIUTIL
d—X1K)A/2—R28)A/ S =F1R)F+ 11:30 ~ 12:30
<FE> LREOEBEEZMHNBERICZHGZEZTEEIN > EEEEILWVDELIEBATHLERIEELZYEITDOT
TEET L,
9:30 SmE - BEEZ{T
- EFHTJO7TOEZED YiZFI 4L NOT~5 (10:30~10:33) FF
- OF7 TOHEEQ Y2kFL U5 NOT~5 (10:33~10:36) FF
BB T7OTTOREQ YiLFI gL N06~10 (10:36~10:39) F3E
B IJO7TOEED Y2kFL UL NO6~10 (10:39~10:42) F7FE
-BERIOF7TOHEG® YIxFI U5 NOT1~15 (10:42~10:45) FE
-BEIJOT7TOEE® Y2xFL 4L NOT1~15 (10:45~10:48) F5FE
-BEIJO7TOEED YIxFL 4L NO16~20 (10:48~10:51) F5E
- HBET7OT7TORE® Y2LZFI o)L NO16~19 (10:51~10:54) FFE
11:00 B8 £
BHE - EFFEE
11:10 A—X1&ZFI T ILEM 208FE AL
A—R2ZFUTILEM 198 FF B/XRJL
12:40 {K E (50%)
- EFHTJO7TOHEZEQ YIBEFL 4L NOT~5 (13:00~13:03) FF
RO 7 TOHEED S1kFrF L NOT~5 (13:03~13:06) FF
-BROO7TOFED YIEFLU4HIL N0O6~10 (13:06~13:09) FE
-BROO7TOFED S1'xFPUFIL N0O6~10 (13:09~13:12) FE
R IOF7 TOHEED Y2BFL U5 NOT~5 (13:12~13:15) FF
-BEIJO7TOEE® S1xFL 4L NOT1~15 (13:156~13:18) FFE
BB TJO7TOHEEG Y2BF U450 N06~11 (13:18~13:21) FE
BB 7OF7TOREE® SIBFIUHIIL (13:21~13:24) FF
1330 A—X1BFLUFIL 108FE/A—R2BFL U5 UEKFE AL
DZTFIEFIOUTIL BBFE/ZTIBFOUTIL 28FE B/ L
1455 (K E (30%)
B TJOF7TOEZM Y1 YA NOT~3 (14:55~14:58) F5FE
BB T7O7TOHEE® Y2 YA NO1~3 (14:58~15:01) FE
- BHT7OT7TCOHEE® Y1 RYA NO4~6 (15:01~15:04) F5E
- FHEIJO7TOHEEQ Y2 +1FA NO4~6 (15:04~15:07) F%&E
- BEIJO7TOHEED Y1 RUA NOT~9 (15:07~15:10) F%&E
CBE O TCOEZT® Y2 YA NOT~8 (15:10~15:13) FFE
CBETJO7TOEE® Y1 R)A NO10~12 (15:13~15:16) F%&
BB TJO7TOHFEE® Y1 RYA NO13~14 (15:16~15:19) F&E
15:25 dA—X1+YA 1448FFE AR )L
A—R2+UA S#AFE B/ )L
16:20 4K B (209
CBHETJOT7TCOEE® ST kYA NOT~2 (16:20~16:23) FFE
S TJOF7TOEE® ST YA NO3~4 (16:23~16:26) FFE
BB T7O7TOHEZFD ST YA NO5~6 (16:26~16:29) F3E
- BHTJO7TOHEE® ST kYA NOT~8 (16:29~16:32) F3E
B O7TOEE® ST kYA NO9~10 (16:32~16:35) FFE
1640 S =F71kYA 10#8F%E B/RRIL
17:25 {K E (15%)
1740 #ERREXR - REAX
[2—R] 2—R1LFPUTIILEM 282FE
A—XR1BFOUJIILEM 62FE
aA—X1 k1Y AER 8T E
A—R2EFIUTILEM 28 FE
A—R2BFOUTIILEM 6BFE
1—R2 k1Y AEF 648 % &
[ =7) S=71IBFLUJILEM 282FE
ZTIERFOUTIVEM ARFE
=71 MY AER 68F €
18:10 B =
HEBADRBULTERREBHILHZMTABIZKYRELET,
X oO7 TO/RETITHBICEE. BELEORERT7T IOV RAEZHLET,
[BEEL] HIGEFCTRIREA A XTI 7OE Y 7A7 RO EFEWEFHSELELET,

N EBEDOSFENTTIDTIHADRELLSEVRAL EIFET,



